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QUESTION 1

When you use the default SnapMirror policy during transfer of a data protection SnapMirror relationship, what is
transferred? 

A. the Snapshot copy that is created by the transfer process and any existing Snapshot copies 

B. the Snapshot copy that is manually created and any existing Snapshot copies 

C. the SnapMirror license 

D. only the existing Snapshot copies 

Correct Answer: A 

 

QUESTION 2

You want to establish a SnapMirror relationship between two clusters. 

In this scenario, which two actions must you perform to accomplish this task? (Choose two.) 

A. Peer the nodes. 

B. Peer the volumes. 

C. Peer the clusters. 

D. Peer the SVMs. 

Correct Answer: CD 

 

QUESTION 3

What are three reasons to implement FabricPool? (Choose three.) 

A. to shrink secondary storage 

B. to implement storage efficiency features 

C. to move volumes to external capacity tiers 

D. to use the volume backup feature 

E. to reclaim space on primary storage 

Correct Answer: ABE 

Reference: https://www.netapp.com/us/media/tr-4598.pdf 
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QUESTION 4

Which LIF types are owned by the admin SVMs? (Choose two.) 

A. Node-Management 

B. Cluster 

C. Data 

D. Intercluster 

Correct Answer: AD 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUID1BA3000D-2243-44E4-98CC-8D42A5C8AF8F.html 

 

QUESTION 5

In which scenario would you specifically assign aggregates to SVMs? 

A. to configure an ONTAP system for CIFS and iSCSI 

B. to create SnapMirror peering relationships between SVMs 

C. to prevent a storage administrator from overcommitting an aggregate 

D. to configure an ONTAP system for multi-tenancy 

Correct Answer: D 

Reference:
https://library.netapp.com/ecmdocs/ECMP1368404/html/GUID-5255E7D8-F420-4BD3-AEFB7EF65488C65C.html 
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